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1. Which one of the following statements is FALSE about the plane 2z —y + z = 47

2k Lo ";:<Qr ~hH D
ST
- (a) It is parallel to the plane z — 2y +2z =2 (correct)
-2
(b) It has a normal vector 7 =< 2,—1,1 > S me <y a2 i o
(c) It passes through the point (2,1, 1) ™ ,’K‘ﬁ as mnf 0

(d) It intersects the z-axis at (2,0,0)
(e) The point (0,—4,0) lies in the plane

o # 5%
S22, 1If (a,b,c) is the point of intersection between the lines

Li:z=142, y=1~-t, 2=2-3t
Ly:z=4—5,y=—-1+2s,2=—4+6s
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3. If ar + by + cz = 5 is an equation for the plane through the points P(2,2,1) and
Q(-1,1,—-1) and is perpendicular to the plane 2z — 3y +2 =3, thena+b+c =

#53
s L5
(a) =3
--F)
(b) 4 Tz P& xn
(c) —2 e 73, LD X K2, -3, 1D
(@ 1 R
(e) 0 s
9 =3 i
I R Al
'P (2,21)
R e e
2y~ 3
O T T
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G 5 A+b+C e T R S
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§ 116 . e : .
4. The set of all points equidistant from the point (0, 1,0) and the Tz-plane is
("‘-l'j,‘*-!
(a) an elliptic paraboloid (correct) A
(b) an elliptic hyperbola disk P @A) b (0h0) = Jisk e
(c) an ellipsoid i, 2) M A x2-ploant
(d) a plane
2z oy |
(e) a hyperboloidTone sheet ' xq'+Qg-\)1 4+t -2 ?\
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5. The graph of the equation z* =1 — 212 — 32 is

~ H (C(

s .6
(a.) an ellipsoid = (correct)

g - L
(b) an elliptic cone ¢ Sl e N
(c) an elliptic paraboloid Pk e\\‘\PS &\
(d) a hyperboloid of one sheet
(e) a hyperboloid of two sheets
N.FL).V
713 Gty
6. The domain of the function f(z,y) = s is 3
8 1 LI S el

(a') {(‘T!y) 1T € (—1,00), Y€ (_001 00)} (correct)
(b) {(z.9) : 2 € [-1,0), y € (~00,00)} iy e
(C) {($1y) T E (_]"m)! ye [LOO)}'
(d) {(z,y) : z € (—00,00), y € (—00,00)}
(B) {(:c,y) ‘T E (1100), yEe (_1100)}
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7. An equation for the level curve of f(z,y) = In(z —y) that passes through the point

(€2,0) is given by

(correct)

(a) y=z—e
(b) y=z -2
(c) y=ex — €3
(d) y = 2?

(e) y =2z — 2€?

&’

£ (xy)

Jm 0-9) =
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kb ) T29H %0
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/Q”‘Ceio) 2o =) C’Q““)zg'
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(e) 2
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3 0 Sw? 9 = ‘X\«‘r Y‘ Sm &
8. lim Y = = =4 e S5
(z.9)=(0,0) 22 + 32 g it ol el ot (v>¢)
L rS5wb % ;
Y Jg
(a) 0 \ = (correct)
(b) 1 '
1 =
(c) 2
(d) DNE
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%«{3.._5 9. If z=1n+/22 + 92, thenma—i+ya—;=

(a) 3 (correct)

(b) = 7 =5 I (7

(c) 0 ’();:- v, 2% 2 5

z
(e) 9 ’() & ’\__ 2'3/ . :? -
¢ _.5 T x‘z:@z Q(-«+3
B%— - o 2 o
e O il i P e K- =gy t ~
bk 29 o+ o
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=l 0%
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~RgL %0
(33
10. If f(z,y,2) = &* — 22y + 3y° + ay?2*, then fry..(z,y,2) =
(a) 24y22 M (correct)
(b) 12y2? Sukee T orad o AP eteakiaho

c) 6xyz?

(
(d) 24zyz?

(e) 12z2*

\?thz: (94,2) = Sz‘kﬂb

e =4
3 1a+4X3£
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11. Let z = 2% +y*. If (z,y) changes from (2, 1) to (2.1,1.05), then using differentials,
the change in z is approximately equal to

S|
Y (a) 0.5 (correct)
(b) 0.03 cdr=d o fydy
(c) —0.2 it 4y 5 Xaia)s | 464
— d > 3 < .
(e) 0.25 A 5
20> 3'
3. D= o 0.5
AN P
$ i35 . \
1 0z = &
12. If z =sin(z%)), z = s%, y = s+ 5 then 5 e /S
L £ s t
(a) 2s°t cos(:r2y) (correct)

5 S Lo e = s
(b) (23515 - S—) cos(zy) i Ll . E5 )
t € W 9k P ST

2 5 2 _ =
e G ey T )
~3 2
(2xy .5'1_1:c.l+. ) Cosixy)
e C,s(:
- [Q sz.t [JJT‘EL)S? __QS'-I-_Ha *:.J ‘13)
Y R
5‘-{; i j
s

o/

(c) 3st? cos(z?y)
() (s* = £) cos(ay)
(e) 2st? cos(z%y)

i

=
_[QS'E.-Q-Q

5 2
5 og '5"-(-_ CoS(K&J
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13. If z is defined implicitly as a differentiable function of z and y by the equation

/.—

— = sn(Zrt+y) -2z cos(z%) = 1, oy z}
—_— r2 = o) 7
i) P e 10 x+9) - 2 T
~ #3| > O wax ERRATEN
§19.5
(a) cos(2?) — cos(2z + y) a
2zzsin(2?) ~ 9 CoS (2x t3) -4 O»(27) PR
B - ekl
(b) cos(z?) +f:0(s(2‘2)a: + ) ooz S 22)
zzsin(z =
- Ax
© cos(2z + y) — cos(2?) gl Co (%) b *"9)}
2z cos(22) i y xx SWm(R)
= 2
ity e Cos (2] — Cos (Acty)
5 e 9 xZ SHL(&Q“)
(@) cos(2z + y) — 2 cos(z”)
® zzsin(2?)
~ 3 b
913 .6
14. The maximum value of the directional derivative of f(z,y) = ze: at the point
(1,2) is equal to S/x Ix
4
v§:<{,’1’.}’3> _<m.€-(—:“_.t)1_€ }:xe P
2./9 (correct)
() 62‘[ § 3k 9x  x "
(b) e sl Bt R b
(C) 26 2 8 el >
(d) €* I§hy) = 418 =R
(e) e2+1 £
oo e € >
' Y/ P!
max, Value - Te difec t\w\aj Ja(\V- . ‘C o

"Vg“ﬂ”l S_—_’ @ 2 éﬁ
r=

= ) +L€)
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15. If az + by + ¢z = 10 is an equation for the tangent plane to the surface

F; 4+ + 22 -8 —12y+42+42=0

at the point (2,3, —3), thena+b+c=

(a) 6
(b) 5
(c) 4
(d) 3
(e) 2

pack «

ey [

/S i3.F

(correct)

VFE :<EH ‘g\ E’:>
- LAx=§, 2942, 2244
. & y-% b) 6-'2 !"("H">

L -uy -6 =25
—6, -2

VF(Qfﬁi‘s)

Aﬂ :VP(Q|31’3) 3 &N
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1 A i,
2 A 7,
3 A K,
1 A £
5 A E .
6 A A
7 A o .
8 A b
9 A S
10 A Y
11 A C .
12 A i
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14 A i
15 A 5
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